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Topic:- Child Development & Pedagogy (CDP)

learners. / 3T BT $&rraﬁﬁ' 3Ad ﬁr&nﬁh‘rm

1) Today’s classrooms how welcome

WA gl 2l
1. Talented / UTfQHTRATS

2. Diverse / fafaer
3. Gifted / Gfar8TTRrelt
4. Special need / TaT® TG

Correct Answer :-

« Diverse / Tafas

2) Short term deficit of sleep affects learners by / siie; @Y rcuTater st Rranfdat & s
FICATE

1. increase in weight/ Wﬁq@

2. increasing the risk of diabetes/ ETQ:FI?-' DT YT d&edl

3. weakening immunity/ IR TfAL&TT

4. reducing concentration and memory/ TehIIAT 3K H{ﬁ DI HH BLAT

Correct Answer :-

« reducing concentration and memory/ TehTIIT 3R EH T Pl HH HIAT

3) Inequality in education has been reduced in India due to: / {R # fRYT & 3rHATATT AAT A
¥ T FRUTFA QN TE §:

1. Religious intervention/ GTf3Ie g&d&Iq
2. Social Reforms/ AT U

3. Constitutional provisions/ EIUTIA® YraeTe


Lenovo
Stamp

Lenovo
Stamp


4. Cultural diversity/ HIERTdD fAfaadr

Correct Answer :-

« Constitutional provisions/ HaHTHd TTadT

4) NIOS is an example of __ agency of education. / TATSHTH, famw &Y Tt
FT TF 3GT80T ¢

1. non formal / 3R-3TqaTie®

2. formal / ATTaTiR®

3. NGO / GSffafl

4. informal / SRS

Correct Answer :-

« non formal / A-3g=nie

5) What are the family and community resources that children can draw upon collectively
called? / ¥ TIRERF 3R Agerfs waTersr F#aT &, o1 oF 9= Ao ©9 @ AT N g ahd
82

1. Membership capital / F&EIcT Gail
2. Structural capital / ERAATCHD U@ﬁ
3. Fiscal capital / TSTRISIT q\Gﬁ
4. Social capital / GTHATTSTh @

Correct Answer :-

« Social capital / HTHTTSI Tl

6) What are the ways to engage students in problem-solving strategies & extend their thinking?
| FHEAT Y AT Y WA 3 ST Y et FI 3 3T A Y 30T Tg1 & ad F41
8?

1. Use of concept formation, inquiry & synectics / STTURUT IS, TSATS 3R et @ suAeT

2. Addressing questions again & again/ SR-IR U5 Pl T AT

3. Talking to friends nicely/ GIEAT & 31T A ITcd AT



4. Giving them extra homework / 3¢ 3R HEYA B T

Correct Answer :-

« Use of concept formation, inquiry & synectics / STTYRUT TS, TSATS: 3R T3t o1 3ueT

7) What type of reasoning is characterized by moving from the general to the particular? /

W#ﬁﬂwﬁaﬁtm?mw#aﬁwﬁﬁﬁwmmﬁ

1. Transductive reasoning / GRITH Ieh (giasquEq =it

2. Inductive reasoning / 3ITHATCHD s ($'I?':‘3CJ-CCI d=ifaan)
3. Deductive reasoning / fsTaicas do (Bsfdea dafeim)
4. Hypothetical reasoning / UTdreheUcTcHh s (RELIDIGEEUSIGE!

Correct Answer :-

« Deductive reasoning / f@9TaTca® o (Bsfdea Jafam)

8) What is the part of memory that stores information that one is not consciously aware of? /

Tl T TE HIeT AT ST &, SIS AT HITGIT FIAT & (oleTeh] Aol T § SATABRI w61 TGl 62
1. Dual memory / Gledl ¥

2. Explicit memory / TUE FHId

3. Implicit memory / Hﬂﬁﬁﬁ E{ﬁ

4. Conscious memory / s H{ﬁ

Correct Answer :-

« Implicit memory / safafea H{%

9) What is the phenomenon wherein previous exposure to a word or concept makes later
recollection easier? / g €Tl 4T ¢ wa e ereq AT HTURON & g4 & HIF & A F 915 H1
THIOT 3T 8 ATl 82

1. Priming / GT&{3HaT

2. Deriving / ag?ﬂﬁf

3. Subliminal perception / 3Tddel TcA&fIehToT
4. Subconscious memory / Haddel T



Correct Answer :-

« Priming / ST& 3T

10) Children are asked to narrate a story during the administration of which test? / o adtam
& waTee & GNIT qoal $T FHETeAT GoATT & T g o §2

1. Children’s Apperception Test (CAT) / STel-3edial <l U177 (HTLY)

2. Minnesota Multiphasic Personality Inventory (MMPI) / fREATCT FeEIth ol Tdcolel Sdedl
(THUAUIIS)

3. Wechsler’s Intelligence Scale for Children (WISC) / da€eRR Sc¢foroic Tehel B [es

(FeogISTHEN)
4. Thematic Apperception Test (TAT) / fauT-3Tcaag= TreTor (ITer)

Correct Answer :-

« Children’s Apperception Test (CAT) / STel-3Teda1el GLI&TOT (HITET)

11) Learner autonomy is a characteristic of: / fRrareff Farraar e $i fadiwar g2
1. Formal education / 3ita=anies &t

2. Traditional education / TRUTeh fRI&TT

3. Progressive education / JaTfarefTer frer

4. Inclusive education / THTARY TRy

Correct Answer :-

« Progressive education / JTfarefrer framm

12) Raven’s Progressive Matrices Test measures: / Y37 %T WA Afew ere AMGar §:
1. Intelligence / gi?

2. Personality / cdTthcd

3. Attitude / AT

4. Motivation / QIO

Correct Answer :-



« Intelligence / g@

13) According to Piaget, children’s development is progressing through 4 stages. /
e & TR, Foa 1 T 4 ot & ATeTT ¥ waTfy F TET B

1. Physical/ #ifd®

2. Emotional / HATIATIHD
3. Functional / EI"TI'CIﬁH}‘:I?F
4. Cognitive/ ITH®
Correct Answer :-

« Cognitive/ IIMTH®D

14) Many people who were alive at that time remember exactly where they were and what they
were doing when they heard that Rajiv Gandhi was assassinated. What type of memory is

displayed here?/ﬂ%mmwmﬁﬂ{ﬁ@'ﬂﬁ?mﬂﬁﬁﬁmﬂaﬂgiﬁm
¥, 378 8 & U1E § 6 9 FgT A 3T FATHFT @ & | I8 6 F T AT Ffer q@i g ¥

1. Flashbulb memory / Cﬁjaﬁ 7
2. Declarative memory / SIYUTIcHE FH I

3. Sensory memory / Hdgl H{%
4. Semantic memory / 37297 T

Correct Answer :-

« Flashbulb memory / Q@eITa TFfa

15) Learners are not included under “Exceptional Category”. / fRranfd=i 1 v
IqaTETeHS A0y & Iedia enfAer A8 fEham Smar|

1. Normal / HTURUT (AT

2. Retarded / g (Re1és)

3. Gifted / UfasTRITel ()
4. Slow / & (Helh)

Correct Answer :-



« Normal / GTUROT (ATe)

16) If a learner has difficulty in reading, then what type of learning disability? / Ife v fRraedt
P TG H FISATS gl §, a7 30 FFH TR A 3109 raTAar 2

1. Dysgraphia / fSgamithar
2. None of these / 7 H PIS el
3. Dyslexia / [3€cifraar

4, Dyscalculia / %W?—Fgﬁf&ﬁ

Correct Answer :-

« Dyslexia / Brafdaar

17) An infant takes time to distinguish the father from other men. This aspect of development
happens because of the following principle. / Teh fﬂ'{[ I ar a1 3= g'{?‘ﬂ' ¥ I A H AT
T 8| AT #1 9 Tieeaior T Rigwia & sRor@iar g

1. Whole to Part / ‘{Uﬂ' q 3

2. Centre to Periphery / g & TR

3. Part to Whole / 31T & ‘{U‘f

4. General to Specific / @AY ¥ fafdre

Correct Answer :-

« General to Specific / T & fafre

18) The famous physiologist whose work on classical conditioning influenced the field of child
psychology is: / 9fager aR-fFar fawmeit (Reforataitoree) foraes e HeTholel (FATS
Harerfaren) 9T fHAT 1T FF a1 ANTAAT & AT FY yHTRT FIATE, T8

1. Edward Thorndike / TSd$ UTei5TSh
2. Wolfgang Kohler / aTethalaT PhlgeR
3. Jean Piaget / ST T

4, Ivan Pavlov / SdTel GG

Correct Answer :-



 Ivan Pavlov / SdTd UTaelid

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws of
learning? / FgTad “Teh HHAAT & d1G A AHoAT fAed ¢ 17 3T & fore fagsr o oy ghar
&

1. Law of exercise /37319 & [T
2. Law of readiness / d[UdT & [T
3. Law of effect / THTT & AIH

4. Law of success /AHoldT & [T

Correct Answer :-

« Law of effect / UHTT & AT

20) The characteristic of behavioral objective is: / STdgIR® 32?&2!' A Fdware:
1. None of above /Wﬁﬁaﬁéﬂﬁ

2. Observable and measurable / 3dalha 1T R TRAT

3. Observable and Immeasurable / 3Tdcilhel RS 3 Fich

4. Non-observable / IR-31aclleheil g

Correct Answer :-

« Observable and measurable / 3Tdelichaid 3R TRAT

21) Which of the following is a Humanistic view of motivation? / fAFfaf@d & & 9om &1
ATATaTar T ST 47 82

1. Need for self-esteem and self fulfilment / ITcHTFATA T ITAIDAT 3T 3TcH F[m
2. Beliefs, attributions for success and failure / IO, THIdT T AT 3R 3 wear

3. Goals, expectations and self-efficacy / o1&, 3G 3R AT THTIRTRAT

4. Incentives, reinforcers and punishers / ISIERE , g< ,Cof.hdcl 3R gus g aren

Correct Answer :-

« Need for self-esteem and self fulfilment / HTcHTFHT I HTAIThdT IR HTcH JiA



22) How many primary stages of development are present in Kohlberg’s theory on moral

development? / Afas R W Fieraet F Riguia # Rew & frasr wrafas wor #Algg §
1.3
2.4
3.2

4.6

Correct Answer :-

23) advocated that all children have the potential to learn. / F AT frar @
wsft geat & daax A awar @ ¥

1. John Dewey / ST éﬁf

2. Freud / WHIIS

3. Friedrich Frobel / %hsfieh Whldel

4. Maria Montessori / FTRAT HiccaT

Correct Answer :-

e Friedrich Frobel / s WHidel

24) are creative skill practice books for children for the enrichment of their creative

thinking. / T B TP G & "Hadq & e FATes Sivre A & i g g1

1. Enrichment books / HH{g W
2. Idea books / fTaaR W

3. Integrated books / TehIehd ‘I‘vT‘ﬁF

4. Creative books / {decllcHD & &

Correct Answer :-

« Idea books / TR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: / “ufeyw

T A & UG & TG @RUT H Y UeH § -



1. Family / URaR

2. Parents / ATAT-TUAT

3. Primary caregiver / WTAf3® Teras

4. Teachers and peers / 18T 3R Fgurér

Correct Answer :-

« Teachers and peers / 18T 3R FEurdt

26) The passion for doing anything in the absence of any compulsion or reward is ./

PR MaamasmF ey dgs s SITH_ 2l
1. Intrinsic motivation / S hITT JTRUIOT

2. Extrinsic motivation / TTHTToTch 3TTRUIOT

3. Achievement motivation / 3TclTe¥T UROT

4. Level of Aspiration / 3TehI&TT T TAX

Correct Answer :-

« Intrinsic motivation / <gThara JTfFOTOT

27) Which of the following is NOT a form of misconception? / fAafefad # 3 @
U TTed YR 8] 82

1. Vernacular misconceptions/ HTJHTHT frear g@'

2. Cognitive conflicted ideas / H<TelTcdd TREW AT faar
3. Non-scientific beliefs/ 3{d=TTeleh AIATT
4. Preconceived notions/ G@TIRT g

Correct Answer :-

« Cognitive conflicted ideas / HTATcHD TEWR Ta TaaR

28) Who strives to answer such questions as well as to understand, explain and
predict behaviors that occur throughout the lifespan? / Siaq R B9 a1d a8

P FHA, N 3R HiTwarfl $313 &1 T $31 & J1Y-914 TN aTdl & Sia1d S
eare?



1. Developmental psychologists/ fderaTcH® FAIdATAD

2. Vygotsky theorist/ AT FAGITPR
3. Fraud theorist/ SN@TSY faaeh

4. Erikson theorist/ TR Iri\-lfs\idml{

Correct Answer :-

« Developmental psychologists/ TaepTaTcHP AATd=TAD

29) To motivate an auditory learner, the teacher should encourage him/her to

./ gaur Rrenfial & ia s & forg, Riere o I Wieafed s arfge &
|

1. use reading material in small units / SIET SHISTAT H TS FTHUT T STITIT Y |
2. participate in club activities and skits etc / Feld T ITATATAAT 3R ATed (Fave) 31T F HI9T |

3. participate in discussions / a1 A giFafoa ol

4. use coloured pen and highlighters while studying / EIETsf PG THT T BoaH 3R ‘s’lgfﬂsfﬁﬁ TN
2y

Correct Answer :-

« participate in discussions / Tl 3 HiFAToidol|

30) The effective learning as per Piaget’s theory is . | T & Rrgia & SR wurd
rftrma 2

1. content acquisition /W L CING
2. root memorization / H{el ITq ILAT

3. active learning / TR 37T

4. reading by heart / TehIIAT & UG

Correct Answer :-

« active learning / TTehd 3TTAITH

Topic:- General Hindi (L1GH)

1)



19 1922 F1 g1 3 feAT SEISH BT AT YT1 URA S S BT AT ATI 39 AT B dRG-aRE & AATAR
e USd 1 ST I A 3+ Wi ¥ FA & AT YR & AN Bl 54 ST-YHBT B IWT AT TR IADB]

qufHal F I deq 3 fewrd W ara ot @ A1 A7 & AT A i WS & Hry Sfeardt iR I9F A
BT ATH AT SR I

3T & T STl & S ¥g- arad Har feardt dieht-ard) @t & urenw F ra Aeft-d Jerar wa A R
q A U A 37D d B YT §F THMT, IAPT Sita e gt Tl

IUa TR P UgHR A1 2T T s F IR FaTsC:
U: HRd o0 1922 ¥ # fraet qam ur?

1. geAaTierdt T

2.1 &

3. 3

4. ARG &

Correct Answer :-

2) IRY Far faya yu e,
TG | A1 g ¥ 4g a;
T w1 &1 iy sruffia,
W SftaT BT 319] T T

Ja® Jad AY U ofe!

IR Mada siud Ta-,

HIT 38 I SaTdl-H 0

fay-zray RR ¢ wgar'd

BT 1 of et uTan g1 | fira

ez Rigr W o wran

ST U $I g A1 3T 7¢ w4l & IWwR FasT:

UH: HiagAt & SR, ‘Ygd HIF A1 Y ¥ qg a1 Ufea &1 Hrard 1 g2
1. 33 3 T T TTed FAF FAA oA TS ¥

2. T PIHA AH P e U drcht FUT AT A gd A gl S S|
3. i # a1 AH & qAET gl @ B

4. Tgel gU A1H AT R FoldT T

Correct Answer :-



o J W PIAST AHA B G UAT Il FA BT A gd H gol S S
3) 9RY ¥ar faya yu =,

Tgd | A1 g ¥ 4g a;

¢ vt BT Ry Sraffi,

R SftaT &7 319y T T

Ja® Jad W) ¢Hued ofa!

IR Mad siud Ia+,

T Y8 T SaTa1-&o7

fay-zray RR ¢ wgar'd

B 1 ot UTan g1 | et

ez Rigr W o wran

ST U $I g 1 3T T¢ w4l & IWwR FasT:
=z Rigy &1 9 T 82

1. 3jqel

2. 3feEd

3. "@ieg

4. dsir

Correct Answer :-

AT I§ ISR SATT-H0T
faea-erersr AT g1 Fgar A
B & S g g 7 e
A et aY s et



3YYFA ISIIT Y gl A QU 7w qeat & IR s
WeT: ‘'JAH-Jad @ FAT aread g2

1. IR-IR

2. -9

3.39 |

4.8 @

Correct Answer :-

- T

B A S 9T g A e

gt e A duw Fal

39T USIIT H YgHT A R v geat F 3w Ianw
TReT: ‘AT’ FT FIAT 3T Fer 87

1.da |

2. M @

3.°MH |

4. Bfctam

Correct Answer :-



& werer 1 Y IR,

N Sfiaer HT AT e Tl

qosd g AV dus el

'R fider FAer e,
feg-erersr AT g1 Fgar A

T & ST R g # e

fer Rer M fus sren

3YYFA ISIIT Y gl A QU 7w geat & IR e
WeeT: ‘e’ &I el g T 82
1. ar

2. ddel

3. JdiT
4. QA

Correct Answer :-

freg-ererer X g1 Fgar A

B & S 9T g 7 e

gt e A duw Fa

39T UShIT H YgHT A R v geat F 3w Ianw
ves: G9F HT IGGAEr 4T §?

1. R

2. SdTell



3. R
4.7

Correct Answer :-

8) wher e RAYer g 7=,

AG HIA AT g Y Hg d;

& wrer &1 Ay saRfA,

X Sftaet &1 3797 e AT

qa® Jod A GuF el

R fider FAT o,
feg-ererer AT g1 Fgar A

B & e urT g3 7 e

Rt Rer A duw Sl

39gFd UEIIT Y YgHt A BT 7T geal & 3R aamw
wee: EeT &1 wAETAT e AT 872
1. gt

2. G

3.0

4.

Correct Answer :-



AT @ T SATAT-H0T

freg-ererer X g1 Fgar A

B & S g g # e

e e A duw Fal

39YFd UEIIT H YeHT A R v geal F 3R Ianw
g3 39 Hiaar # FfaE F Far 9wom & 72

1. QU ¥ @A @ @ G@e &

2. E1Uh Pl SaTel el B

3. 81U ¥ 3Tl A B

4. 7T & QP STeld |

Correct Answer :-

- QUF T g A e fg@m= &

10) wher e fage 49 @,

A AA W g Y Fg A,

& werer &1 Y IR,

N Sfiaer HT AT T Tl

qosd gl A duE el

R fider FAer e,
freg-erersr AT g1 Fgar A

T & e urT g # e

fer Rer M fus sren

3YYFA ISIIT Y gl A R v qeat & 3R qamw:
Yeel: ATl &1 U 3Hed ATH FIT Al 87
1. IR

2. UTdeh

3. 3191

4, ddld

Correct Answer :-



11) ¥her %ar RAga g7 ¥,

A AIA W g Y Hg

& wrer &1 Ay saRfA,

X Sftaet &1 3797 e AT

qad Jod A GuF el

R fider FAT o,

freg-ererer AT g1 Fgar A

B & el qrT g # e

et e A duw Fa

39YFd UEIIT H YgHT A R v geat F 3R aanw
WeT: gl 1 H FHSTHT 3WH A e IART?
1. &3

2. BIHAA

3. R

4. #raT

Correct Answer :-

12) wher %ar fge g7 &=,
A AIA AT g Y Fg e,
& ey @1 Ry R,
R et &1 3797 e AT
qos Josdh A §uF SAel
AR Afae AT o,

AT 7§ N SaTAT-H0T
freg-ererer X g7 Fgar A
B 7 S g g 7 e
et e N dus Fa



39YFA ISIIT Y gl A QU 7w qeat & IR e
TeeT: 9E B GU FHT F Aol A1gu?

1. 38 YA Foldl B

2. 318 IS HUAT RO § IRY 3R STl T &l
3. 919 AR I0THA W SeR & ured X ©
4. 3R PRGN H gerg IRT 3R Ferdhr ¥

Correct Answer :-

o SN IS AU RO ¥ ART 3R SSrem AT §
13) ¥her %ar Rge g7 ¥,

A AIA W g Y qg

& warer &1 Ay R,

R Sftaet &1 3797 e AT

qos Jod A GuF el

TR ffaer FAT e,

AT @ T SATAT-H0T

freg-ererer X g1 Fgar A

B A ST 9T g A e

gt e A duw Fal

39T USIIT H gHT A R v oAt F 3w Ianw
weeT: WEga 9fFadl & an #4872

1. el Jdel

2. el PIHAT

3. hadl Aol

4. 3Wh Hfr

Correct Answer :-

o WP T

14) wier %ar fge 47 ¥,
g AT A g X 7qg q,



& werer 1 Y IR,

N Siaer HT AT e Tl

qosd g A duE el

'R fider FAe e,

feg-erersr AT g1 Fgar A

T & e UrT g # e

Rer e N s Fa

3YYFA ISIIT Y gl A QU v geat & 3R qamw:
Wl WA uiFd & FRwE had vl ard wer §2
1. AATN &

.90 & U |

3.4 4

4.9z 4

Correct Answer :-

.« Qus A

15) ¥her %ar fAga 47 ¥,

Agd AIA W g Y qg

& warer &1 Ay IR,

R Sfaet &1 3797 e AT

qod Jad A dUE el

AR fidqer FAA e,

AT @ T SATAT-H0T

freg-ererer X g1 Fgar A

B & S 9T g 7 e

gt e A duw Fa

39T UEIIT H YgHT A R v oAt F 3R Ianw
9T IRTAT FT HT THSAR 3TFT [AVA Usg AST?
1. W

2. AW



3. aRfAd
4. f&a

Correct Answer :-

16) Wher %ar e g7 ¥,

A AIA W g Y Hg

& warer &1 Ry IR,

A Sftaet &1 3797 e T

qod Jod A GUF el

AR fider FAT e,

freg-ererer AT g1 Fgar A

B & e grm g # e

et R A duw Fal

39YFA ISIIT Y gt s QT 7T gt F 3R s
WeT: ‘N Saet FT O] I T GfFT FT AEg?

1. SET-SA1 T STl
2. 301 & 3T
3. Slaed &l dfeiglad & ¢l &l SToT

4. 3T A DI ST

Correct Answer :-

o Sitgel & gfergre &Y ¢ Hr geoT

17) st 1922 #1 &1 3 Rl 3G F1 MW A7 AR A IHAS FT JH 41| IIA AN FT AWE-aE &
HAER T 959 & 3T A o 30 @ QW FA F AT ARG F A A} S-4HFT HT @I 4T

W 3aH AR & o a5 A BrAd @a arar off ey 41 0F & aer & 3y wSw F Frr fearEr
3R 37F AT FT AW AT ARH T

Y F g el F fiT W@t a Frr A Aeh-wd Af F Areaw F wwh AU Ferr w1 &
W G F A A 3% T A HYAT §F AT, 3AFT AT AR g1 4T

39gFd AGIIT T IeH A Ru v weat F 3w Famw
WRET: IAETH FT GAIIATdT FAT 7



1. ddr

2. AMHB
3. 379
4. AT

Correct Answer :-

HAER #9590 & 3 A A I3 TS W FA F e o4Ra a;anvﬁaﬁagagv-wwwml
W 3aH ARG F W@aOE a5 i fFad @ ard it aer &) W@ § A F Y wSw F Hr nfear
3R 3% Aar F A 4T AR T

Y & gt Forell & AT @A S FET A @ef-ad AR F Areaw F et W0 e A I
W T { A A 37% AT A HYAT §F AT, 3AHT AT AR g1 T

39gFd AGIIT F T AR Ru v weat F 3w anw
WeeT: AETHY A FAT HeAT USAT UT?

1. hadl AT

2. el TR

3. hadl YHBIAT

4. 3P A

Correct Answer :-

o WP T

19) a1d 1922 #T ¥ 37 =l AT FT AMHeT 4T ARG U AT FT [ 47| HYS AT A qE-a@ &
FATIR Fgal U5d A1 AT AW A 39 FF Q@ 7 F AT o ¥ an F aga SO-tEE F @
W 39 qARRA F R a5 A ReEAd @ are st A 4 0 & o & iy wdaw F ey snian
3R 3% At F1 A a1 AR T

Y F TR STl F T @A a BT IEr WA R F AT @ w0l -0 Serr w9
W ST & FAAT A 3% T HH IHIAT §F FTHAMT, 3AFT Siaer AREw g 247

39gFd AGHT F TeHT A RU v weadl F 3w FaBT
WeT: FIAT 6 YHR HT FHET 87

1. gferd

2. HeUHEIHR

3. gaot



4, 3mfearer

Correct Answer :-

20) a9 1922 €Y ¥ 3 & IS F1 O AR U IS FT A AT YA AN P AE-aE &
FATIR Fgal U3d A1 AT AW A 39 FF QU G F AT 0Ra & ol F 9ga sT-UHFH FT @ a7l
W 39 qARRA ¥ A% a5 A REAT W@ ar st A 41 0 & o & e w3 F PRy anianh
3R 3F AT F A A1 ARH T

Y F gR STl F T @A a FHAT Ifeart WA S F oATeaw @ el -0 e w1 I
W SAq & HAA A 3dF T HH IHIAT §F FTHD, 3AHT Siaer ARF g 1247

3YYFA TSHA FT YT oA T 1T Feal & 3o IaBT:
9eeT: ‘FRT & AdT A?

1. o e

2.3 § PS5 I

3. 37T

4. ARTH T

Correct Answer :-

21) a1 1922 & ¥ 3 @AY 3AST F1 arwar U1l HRA T

IR Weat Usd & AT AW F H9a F&@rd QX FA mma;anvﬁaﬁagagﬂ-wwwml
9T 3dF gAfRA & @OE d5d i fFFAa @ g it der S W@ @ Aor F 3y vy F FAr nfearh
3R 3% Aar F A AT AR T

Y & gt Sorell & AT @A S FET A @ef-ad A F Areaw F et B0 e A I
W G { A A 37% ST A HYAT §F AT, 3AFT AT AR g T

&2 IS FT A AT YA AR F RE-aRE F
&

39gFd AGIIT F T A Ru 71w weat F 3w Famw
WRe: ‘AT HRA A FFI T AT 872

1. AfFrerrg

2. 3¢ UG

3. e

4. elaTe

Correct Answer :-

o 3TY UCRT



22)m1922£r%|37r‘hﬁ3iﬁa’fmemm|m@rmmmmmmaﬁmma:
FATEIR Wegat Usd & AT AW F Iqa F&@F @ Fa & A %anvﬁaﬁagagv-wwwml
W 3R gAfRA F RWAOE d3a4 A ReAa @ ara st Ay ) W@ @ dlr & Iy wew & Hr nfear
3R 3% Aar F A 41 AR T

Y & gt Forell & AT @A S FET I @ef-ad dh F Areaw F et B0 e A I
W T { A A 3o7% AT A HYAT §F AT, 3AHT At AR g 4T

39gFd AGIIT F qeH A Ru v weat F 3w amw
el ‘PHT R W AT ga 2

1. GR[UTele

2. 9l

3. Al UTelel

4. FlgQ

Correct Answer :-

23) ara 1922 # ¥ 3a Rl HAST FT WA U1 HRA A A FT AETH AT HYA AN P AE-AE
FATER #gal U5 T AT AT A I T@F Q@ F& F AT 0Ra a:aﬂvﬁafrmm-mwwml
W AR Rl & e a5 A Rera @ a o @ 2 & avr & sy s & P anhawh
3R 3F AT F A A1 AR T

Y F gR STl & AT @A ae HET M EE-EEn GdnE AeE @ e J-0E Jerr w9
W A § FAA A 3aF T IHT AT §F TAMT, AR g ARw g a4

3YYFA TSHA FT YHT aArd RT T Feal F 30 IaBT:
ves: TRETE osg F4T 87

1. fagel

2. dc8HA

3.ded

4. ST

Correct Answer :-

o facel

E
45
4
P
g
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3
5

ﬁhmﬁm-ﬂammaﬁwmml

LN



Y F TR STl F T @A a FrT Ifeart WA S F AT @ el -0 e w1 I
WG & HAAT A 3dF T HH IHIAT §F FTH, 3AHT Siaer ARw g 14T

3YYFA TCHTA FT YHT aArd T 1T Feal & 3 IaBT:
geeT: S A # fhw afder &1 Reor gam 32
1. TIAFAT UM & 916

2. ¥aFFAT QI

3. 3TfeepTet

4, MG HT AHS =0T

Correct Answer :-

25) T 1922 #1 ¥ 3 Rl UG FT AT AT HARA A A FT AH AT YA AN F AWE-aE F
AR TEA TS T AT AT o 9 FOF W 7 A F 0 9R_a *anvﬁafragagn-maﬂmml

LN

W 3aH AR & o a5 A Brad @a arar off ey O 0F & aer & 3Ty wSw F Frr fearEr
3R 37F AT FT A AT ARH T

Y F g el F T T A Frr wfa def-wdt @t F Areaw F avelt JS-0E e w1 &
W G q A A 3% T AHT HYAT §F FAA], 3AHI Sllaw ARHe a1 |

39gFd AGHIT F TeHT A RU 1w weat F 3w FaBw:
weeT: 3feardl A Fad 82

1. Th YR & Y &l

2. U YR & HEAT &I

3. STeTATfd &l

4. FYIST Pl

Correct Answer :-

o« SISl @l

26) I 1922 # ¥ 3 Rl HAST FT WA AT ARA A IHASN FT AEH AT IIA AN F AG-AE &
maﬁqsﬁmmam#mmgmﬁmmﬁmﬁmm-mwww
W 3R AT ¥ Ree a2 ) Read @ arer o aer 9 X @ A & sy wder & e e
3R 3F AT F A AT ARH T

Y F TR STl F T @A a FHT IErt WA @ F AT @ w0l -0 e w1 I
W A § FASA A 3aF T IHT AT §F TAMT, AR SaeT AREw g a4

3YYFA TEHA FT YHT oArd RT 1T Feal & 3w IaBT:
geaT: e vHT F4AT FId A?



1. G B GRS 1@ & foT
2. 30T T g e & forw
3. §¥Y I & forw
4. gds fg@e & faw

Correct Answer :-

o 30T Ty g R & v

HAER FEg 959 & 3T A A I3 TS W FA F e dRa a;anvﬁaﬁagagv-wwwml
W 3 ARG F W@aE a5 i BFad @ ara it aer S W § A F 3y wSw F HRr nfear
3R 3% Aar F A AT AR T

Y & g Forell & AT @A S FT I @ef-ad A F Areaw F et B0 e w1 &
W T { A A 3o7% AT A HYAT §F AT, 3AHT AT AR g1 4T

39gFd AGIIT F TeH A Ru 71w weat F 3w qamw

weeT: 37! ARl & fBew 3y g # Fia @ Feenfa 36 A2
1. #om

2. FYTe!

3. T

4. 3T

Correct Answer :-

28) a1 1922 # 71 37 Rl IS FT AW AT ARA QU IS FT [AW AT IJYA A F AWE-a<6 &
FATIR Fgal U5d A1 AT AW A 39 FF Q@ 7 F AT o ¥ an F aga SO-twE F @
W 39 qARRA ¥ R a5 A ReEAd @ are st A 41 0 & A & iy wdew F ey snianh
3R 3% A F1 A a1 AR T

Y F TR STl F AT @A a BT IfEr WA @ FoATeIT @ el J-0E e w9
W T & FAAT F 3% T HH IHIAT §F FTHMT, 3AFT Siaer ARFA g 247

39gFd AGHT F TeH A RU v weaAl F 3w FaBT:
weeT: Nsh-UET F aread §2

1.5 § IS AR

2. el FIOTYIYOT

3. thael USIIR



4, YSWIR 3R SROTAVOT gIAT

Correct Answer :-

« YSPR 3R FROTUNOT gt

29) a1d 1922 €Y ¥ 3 & IS F1 O AR U IS FT A AT YA AN F AE-aE &
FATIR Fgal U3d A1 AT AW A 39 FF QU & F AT 01T & el F 9ga sT-UHFH FT @ a7l
W 39 qARRA ¥ R a5y A1 REAT W@ are st A 91 0 & A & e wder F R anfan
3R 3F AT FT A AT ARH T

Y F TR STl F T @A a FrT Ifeart WA S F oArerw @ el -0 e w1 I
W SAq & HAAT A 3dF T HH IHIAT §F FTHD, 3AHT Siaer ARw g 1247

3YYFA TCHTA FT YT aArd T 1T Feal & 3o IaBT:
gee: ‘AR H &l €@ I ghefr 2
1. &

2. 90T
3. o7

4. g

Correct Answer :-

30) a1d 1922 #1 ¥ 3 Rl ST FT AMWT 7| HRA U ST FT A AT| HIA AR H TWE-aE F HAER

e U3d A AT AWA F HUA T Q I F AT ARG F A6 A agad SO-GHRT F @ A1 W AR
AR F @AE a5 i Read @ arer off ahr &) W@ & dr ¥ 3y geor & FAr nfeard 3R IA% Adr F AR
o1 AR )

Y F TN Sorell F T W@ ad R Iiear Deft-ad) At F Aversw @ v J-AE Jerr w4 /W FTT &
IS F 3aF T HFT HIAT g6 FTAMT, 3T SHaar JRFe g |

39gFd AGHIT F IeHT A RU v weal F 3w FaBw
vesT: Fard & A F4r g

1. AT

2. 372

3. fauaf

4. QLAY
Correct Answer :-

o AT



Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is also
incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of its
stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the milky
way galaxy, when they observed a compact collection of stars in the outer fringes of the area.
Careful analysis of their brightness and temperature revealed they did not belong to the milky way,
but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal galaxy.
These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How can we identify a dwarf spheroidal galaxy?

1. By their small size and low luminosity

2. By their distance from the milky way

3. By their difference in luminosity and temperature compared to the milky way

4. By using the Hubble telescope

Correct Answer :-

« By their small size and low luminosity

2) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is also
incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of its
stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the milky
way galaxy, when they observed a compact collection of stars in the outer fringes of the area.
Careful analysis of their brightness and temperature revealed they did not belong to the milky way,
but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal galaxy.
These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.



How did the astronomers discover this galaxy?

1. By observing a cluster of stars that had a different brightness and temperature
2. By observing these stars were millions of light years more distant

3. By looking for it

4. By studying white dwarf stars

Correct Answer :-

» By observing a cluster of stars that had a different brightness and temperature

3) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is also
incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of its
stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the milky
way galaxy, when they observed a compact collection of stars in the outer fringes of the area.
Careful analysis of their brightness and temperature revealed they did not belong to the milky way,
but rather were millions of light years more'distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal galaxy.
These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How distant is Bedin I?
1. 30 million light years
2. 100000 light years

3. 6752 light years

4. 3000 light years

Correct Answer :-

e 30 million light years

4) Read the passage carefully and answer the question given below:



Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is also
incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of its
stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the milky
way galaxy, when they observed a compact collection of stars in the outer fringes of the area.
Careful analysis of their brightness and temperature revealed they did not belong to the milky way,
but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal galaxy.
These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

What is the name of the newly discovered galaxy?
1. Milky Way

2. Bedin |

3. Dwarf Spheroidal Galaxy

4. NGC 6752

Correct Answer :-

e Bedin|

5) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What do you infer from the line “for the dogs are fierce and wild"?

1. That dogs may shoot at the participants of the march



2. That the dogs are not peace loving
3. That the dogs will bite all who march

4. That there are people who are like dogs and are dangerous

Correct Answer :-

e That there are people who are like dogs and are dangerous

6) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the permission being asked for?
1. To go out on a trip with friends

2. To find a singing school

3. To go to church

4. To participate in a freedom march

Correct Answer :-

o To participate in a freedom march

7) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"



"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child.”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the mother’s worry?

1. That Birmingham was too far to travel
2. That there won’t be others in the march
3. That the march would be tiresome

4. That there will be violence and shooting

Correct Answer :-

e That there will be violence and shooting

8) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child.”

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

Who are the two people in this conversation?
1. Other children and the poet

2. The poet and the child



3. A child and its mother

4. A child and her friend

Correct Answer :-

e A child and its mother

9) Fill in the blank with the correct option in the given sentence:

The weather condition in a desertisusually ____ arid.
1. extensively

2. extraneously

3. extreme

4. extremely

Correct Answer :-
« extremely

10) Which of the following options best combines the two given sentences?

They had finished their dinner. They went to bed.

1. As soon as they had finished their dinner, they went to bed.
2. No sooner they finish their dinner they went to bed.

3. No sooner did they finish their dinner then they went to bed.

4. Before finishing their dinner they went to bed.

Correct Answer :-
» As soon as they had finished their dinner, they went to bed.

11) Choose appropriate articles for the given sentence:

heavy rainfall last week was ___ disaster to crops that were already in ___ dismal state.
1. No article required, an, no article required

2. no article required, a, the



3.The, a, a

4. The, no article required, the

Correct Answer :-
e The, a, a

12) Choose the appropriate option that rewrites the given sentence in its active voice.
The plants are being watered by the gardener.

1. The gardener is watering the plants.

2. The gardener was watering the plants.

3. The gardener has watered the plants.

4. Gardener waters the plants.

Correct Answer :-
o The gardener is watering the plants.

13) Choose the appropriate synonym for the highlighted word in the given sentence.

The fashion of colouring hair has become very:ephemeral.
1. transient

2. indestructible

3. imperishable

4. permanent

Correct Answer :-

e transient

14) Choose the appropriate tense to fill in the blank in the given sentence:
I am sure he after his parents, if he rich.

1. will look, becomes

2. is looking, became

3. looks, becomes

4. would look, was becoming



Correct Answer :-

« will look, b